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OtOkeil OFAIOK

HANEE i

21 1-3J1E Xt
(244 118 - 254 1&8)

213 4-6J1& Xt
(254 28 - 251 43)

21 7-9)& Xt

(254 53 - 251 73)

QI CIAERIEH HEiE gHE 100 100 VOLL 100 VOLL 100 VOLL 100 VOLL
Haje gy 1,000 500 VOLL 400 VOLL 500 VOLL 500 VOLL
JiE~HI0I=
HEX 2,000 1,000 VOLL 800 VOLL 1,000 VOLL 1,000 VOLL
= &1 4,000 2,000 VOLL 1,600 VOLL 1,800 VOLL 2,000 VOLL
_ =C 8,000 4,000 VOLL 3,200 VOLL 3,600 VOLL 4,000 VOLL
AHIFO |01
ZdiE|d 15,000 7,500 VOLL 6,000 VOLL 6,750 VOLL 7,500 VOLL
=H| K] 25,000 12,500 VOLL 10,000 VOLL 11,250 VOLL 12,500 VOLL
AILIOT 24 50,000 25,000 VOLL 20,000 VOLL 22,500 VOLL 25,000 VOLL
GIHIE=
OIMZEIE 21k 75,000 37,500 VOLL 30,000 VOLL 33,750 VOLL 37,500 VOLL
CHOIOF=E CHOI0I=RE 125,000 62,500 VOLL 40,000 VOLL /100,000 0V 47,000 VOLL / 110,000 OV 57,000 VOLL
== LI0I0=E 1 AEHCIOIOHRE 250,000 125,000 VOLL 100,000 VOLL 107,000 VOLL 115,000 VOLL
2 AEHCHOI0K=EE 500,000 250,000 VOLL 200,000 VOLL 215,000 VOLL 230,000 VOLL
_12ICHOI0EE
3 AELCIoI0K=E 750,000 375,000 VOLL 300,000 VOLL 325,000 VOLL 345,000 VOLL
HZE CHOI0FEE I X|SIA CHO|oFRE 1,000,000 500,000 VOLL 400,000 VOLL 430,000 VOLL 460,000 VOLL
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